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3+ % C,and P,

e %x&- longint
01 #include <stdio.h>
02 #include <stdlib.h>
03 int factorial(int);

04 int find_nCKk(int, int);
05 int find_nPk(int, int);
06 int main(void) {

07
08
09
10
11
12
13
14
15
16 )

int n, k, nCk, nPk;

printf("Enter the value of n and k\n");
scanf("%d%d",&n,&k);

nCk = find_nCKk(n, k);

nPk = find_nPk(n, k);

printf("%dC%d = %d\n", n, k, nCk);
printf("%dP%d = %d\n", n, k, nPk);
system("pause");

return O;
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01 #include <stdio.h> 17 int find_nCKk(int n, int k) {

02 #include <stdlib.h> 18 return factorial(n) / (factorial(k)*factorial(n-k));

03 int factorial(int); 19}

04 int find_nCKk(int, int);

05 int find_nPk(int, int);

06 int main(void) {

07 intn, k, nCk, nPk;

08 printf("Enter the value of n and k\n");
09 scanf("%d%d",&n,&kK);

10 nCk =find_nCk(n, k);

11 nPk =find_nPk(n, k);

12 printf("%dC%d = %d\n", n, k, nCk);
13 printf("%dP%d = %d\n", n, k, nPk);
14  system("pause");

15 return O;

16 }
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01 #include <stdio.h> 17 int find_nCKk(int n, int k) {

02 #include <stdlib.h> 18 return factorial(n) / (factorial(k)*factorial(n-k));

03 int factorial(int); 19} s y
04 int find_nCk(int, int); .~~~ 20intfind_nPk(intn, intk){ ~  (n-k)!
05 int find_nPk(int, int); g; } return factorial(n)/factorial(n-k);

06 int main(void) {
07 intn, k, nCk, nPk: T
08 printf("Enter the value of n and k\n");

09 scanf("%d%d",&n,&kK);

10 nCk =find_nCk(n, k);

11 nPk =find_nPk(n, k);

12 printf("%dC%d = %d\n", n, k, nCk);

13 printf("%dP%d = %d\n", n, k, nPk);

14  system("pause”);

15 return O;

16 }
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01 #include <stdio.h> 17 int find_nCKk(int n, int k) {

02 #include <stdlib.h> 18 return factorial(n) / (factorial(k)*factorial(n-k));

03 int factorial(int); 19} eI n!

04 int find_nCk(int, inty; .~~~ 20intfind_nPk(intn,intk){ — (n-k)!

05 int find_nPk(int, int); 21 return factorial(n)/factorial(n-k);

06 int main(void) { o 22) N
_ 7 23 int factorial(int n) {

07 int n, k’ an’ nPk’ ~~~~~~~~~~ 7 24 int i, resu|t:1;

08 printf("Enter the value of n and k\n");  ; 25 for (i=1; i<=n; i++)

09  scanf("%d%d",&n,&k); 26  result = result*i;

10 nCk =find_nCk(n, k); 27 return result;

11 nPk = find_nPk(n, k); 28}

12 printf("%dC%d = %d\n", n, k, nCk);
13 printf("%dP%d = %d\n", n, k, nPk);
14  system("pause”);

15 return O;

16 }
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01 #include <stdio.h> 17 int find_nCKk(int n, int k) {

02 #include <stdlib.h> 18 return factorial(n) / (factorial(k)*factorial(n-k));

03 int factorial(int); 19} eI n!

04 int find_nCk(int, inty; .~~~ 20intfind_nPk(intn,intk){ — (n-k)!

05 int find_nPk(int, int); 21 return factorial(n)/factorial(n-k);

06 int main(void) { o 22) e
_ 7 23 int factorial(int n) {

07 int n, k’ an’ nPk’ ~~~~~~~~~~ 7 24 int i, resu|t:1;

08 printf("Enter the value of n and k\n");  ; 25 for (i=1; i<=n; i++)

09  scanf("%d%d",&n,&k); 26  result = result*i;

10 nCk =find_nCk(n, k); 27 return result;

11 nPk =find_nPk(n, k); 28 }
12 printf("%dC%d = %d\n", n, k, nCk);

13 printf("%dP%d = %d\n", n, k, nPk);

14  system("pause”);

15 return 05 sz perammmss | sy,
16 } BHiE F AR B SRR EE!
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01 #include <stdio.h> 17 int find_nCKk(int n, int k) {

02 #include <stdlib.h> 18 return factorial(n) / (factorial(k)*factorial(n-k));

03 int factorial(int); 19} eI n!

04 int find_nCk(int, inty; .~~~ 20intfind_nPk(intn,intk){ — (n-k)!

05 int find_nPk(int, int); 21 return factorial(n)/factorial(n-k);

06 int main(void) { o 22) e
_ 7 23 int factorial(int n) {

07 int n, k’ an’ nPk’ ~~~~~~~~~~ 7 24 int i, resu|t:1;

08 printf("Enter the value of n and k\n");  ; 25 for (i=1; i<=n; i++)

09  scanf("%d%d",&n,&k); 26  result = result*i;

10 nCk =find_nCk(n, k); 27 return result;

11 nPk =find_nPk(n, k); 28 }
12 printf("%dC%d = %d\n", n, k, nCk);

13 printf("%dP%d = %d\n", n, k, nPk);

14  system("pause”);

15 return 05 sz perammmss | sy,
16 } BHiE F AR B SRR EE!
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01 #include <stdio.h> 17 int find_nCKk(int n, int k) {

02 #include <stdlib.h> 18 return factorial(n) / (factorial(k)*factorial(n-k));

03 int factorial(int); 19} eI n!

04 int find_nCk(int, inty; .~~~ 20intfind_nPk(intn,intk){ — (n-k)!

05 int find_nPk(int, int); 21 return factorial(n)/factorial(n-k);

06 int main(void) { o 22) e
_ 7 23 int factorial(int n) {

07 int n, k’ an’ nPk’ ~~~~~~~~~~ 7 24 int i, resu|t:1;

08 printf("Enter the value of n and k\n");  ; 25 for (i=1; i<=n; i++)

09  scanf("%d%d",&n,&k); 26  result = result*i;

10 nCk =find_nCk(n, k); 27 return result;

11 nPk =find_nPk(n, k); 28 }
12 printf("%dC%d = %d\n", n, k, nCk);

13 printf("%dP%d = %d\n", n, k, nPk);

14  system("pause”);

15 return O; ERET RS RS, 1?1' = 1307674368000
16} B FAA R E R 2°-1= 2147483647 .
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01 #include <stdio.h> 17 int find_nCKk(int n, int k) {
02 #include <stdlib.h> 18 return factorial(n)/(factorial(k)*factorial(n-k));
03 long long int factorial(int); 19}
04 int find_nCk(int, int); 20 int find_nPk(int n, int k) {
05 int find_nPk(int, int); 21 return factorial(n)/factorial(n-k);
06 int main(void) { 22}
07 intn, k, nCk, nPk: 23 long long int factorial(int n) {
08 printf("Enter the value of n and k\n"); 24 Int ';_10'_1_9 I_O'?Q Int result=1;
09  scanf("%d%d" &n,&K) gg for ("1”’ I<=n; ';t’:_)
10 nCk = find_nCk(n, k): result = Fesutt,
, 27 return result;
11 nPk = find_nPk(n, k); 28}

12 printf("%dC%d = %d\n", n, k, nCKk);
13 printf("%dP%d = %d\n", n, k, nPk);
14  system("pause”);

15  return O;

16 }
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e ’x4- longlong int o
01 #include <stdio.h> 17 int find_nCKk(int n, int k) {
02 #include <stdlib.h> 18 return factorial(n)/(factorial(k)*factorial(n-k));
03 long long int factorial(int); 19}
04 int find_nCk(int, int); 20 int find_nPk(int n, int k) {
05 int find_nPk(int, int); 21 return factorial(n)/factorial(n-k);
06 int main(void) { 22}
07 intn, k, nCk, nPk: 23 long long int factorial(int n) {
08 printf("Enter the value of n and k\n"); 24 Int 'i_l°'_1_9 I_O'?Q Int result=1;
09  scanf("%d%d" &n,&K) gg for ("1”’ I<=n; ';t’:_)
10 nCk = find_nCk(n, k): result = Fesutt,
, 27 return result;
11 nPk = find_nPk(n, k); 28}

12 printf("%dC%d = %d\n", n, k, nCKk);
13 printf("%dP%d = %d\n", n, k, nPk);
14  system("pause");

15 return O; ﬁ}_‘ﬂiﬁ , {E%{}ng
16} — VAR
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2L 5 n n X
> 5 Ccand P, 2o
o0
e ’x4- longlong int o
01 #include <stdio.h> 17 int find_nCKk(int n, int k) {
02 #include <stdlib.h> 18 return factorial(n)/(factorial(k)*factorial(n-k));
03 long long int factorial(int); 19}
04 int find_nCk(int, int); 20 int find_nPk(int n, int k) {
05 int find_nPk(int, int); 21 return factorial(n)/factorial(n-k);
06 int main(void) { 22}
07 intn, k, nCk, nPk: 23 long long int factorial(int n) {
08 printf("Enter the value of n and k\n"); 24 Int 'i_l°'_1_9 I_O'?Q Int result=1;
09  scanf("%d%d" &n,&K) gg for ("1”’ I<=n; ';t’:_)
10 nCk = find_nCk(n, k): result = Fesutt,
, 27 return result;
11 nPk = find_nPk(n, k); 28}

12 printf("%dC%d = %d\n", n, k, nCKk);
13 printf("%dP%d = %d\n", n, k, nPk);
14  system("pause");

15 return O; ﬁ}_‘ﬂiﬁ , {E%{}ng
16} — VAR
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e )&= longlongint °

01 #include <stdio.h> 17 int find_nCKk(int n, int k) {

02 #include <stdlib.h> 18 return factorial(n)/(factorial(k)*factorial(n-k));

03 long long int factorial(int); 19}

04 int find_nCk(int, int); 20 int find_nPk(int n, int k) {

05 int find_nPk(int, int); 21 return factorial(n)/factorial(n-k);

06 int main(void) { 22}

07 intn, k, nCk, nPk: 23 long long int factorial(int n) {

08 printf("Enter the value of n and k\n"); 24 int |;.10|.17q I_m?g int result=1,

09  scanf("%d%ad",&n,&K): 25 for (iI=1; i<=n; i++)

_ 26 result = result®i;
10 nCk =1ind_nCk(n, k); 27 return result;

11 nPk = find_nPk(n, k); 281
12 printf("%dC%d = %d\n", n, k, nCKk);

13 printf("%dP%d = %d\n", n, k, nPk);

14  system("pause”);

15 return O; f—ib  EEer 211 =51090942171709440000

VAR

16 } =R AR 2%_1= 0223372036854775807 ,



7
e x4 =  skip unnecessary factorial
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7
e x4 =  skip unnecessary factorial

Py =n(n-1) - (n-k+1)

int find_nPk(int n, int k) {

}

Int 1, result=1;

for (i=0; i<k; i++)
result = result * (n-i);

return result;

n!, (n-k)!




7
e x4 =  skip unnecessary factorial
Pe =n(n-1) - (n-k+1)

int find_nPk(int n, int k) {
Int 1, result=1;
for (i=0; i<k; i++)
result = result * (n-i);
return result;

}

Ex. 30P6 = 427518000
30P7 =1670497408
30P8 = -233265230
100P5 = 444567808
100P6 = -715731200

n!, (n-k)!




2% n n
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e '’x&x = skip unnecessary factorial n!, (n-k)!

Py =n(n-1) - (n-k+1)

int find_nPk(int n, int k) {
Int i, result=1;
for (i=0; i<k; i++)
result = result * (n-i);
return result;

}

Ex. 30P6 = 427518000
30P7 =1670497408
30P8 = -233265280
100P5 = 444567808
100P6 = -715731200

long long int find_nPk(int n, int k) {

}

int i;

long long int result=1;

for (i=0; i<k; i++)
result = result * (n-i);

return result;



#+% Ciand P, 333
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e ' &= skip unnecessary factorial n!, (n-k)!
long long int find nPk(int n, int k
PE =n (n-1) -+ (n-k+1) igt - J NPk )
int find_nPk(int n, int k) { long long int result=1;
int i, result=1 for (IF0; i<k; i++)
for (i=0; i<k; i++) result = result * (n-i);
result = result * (n-i); return result;
return result; }
} Ex. 30P13 = 745747076954880000
30P14 = -5769043765476591616
Ex. 30P6 =427518000 100P10 =7475418734400817152
30P7 =1670497408 100P11 = 8704899442529685504
30P8 =-233265280 100P12 =-27200710659158016

100P5 = 444567808
100P6 = -715731200
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e ' &= skip unnecessary factorial n!, (n-k)!
long long int find nPk(int n, int k
PE =n (n-1) -+ (n-k+1) igt - J NPk )
int find_nPk(int n, int k) { long long int result=1;
int i, result=1 for (IF0; i<k; i++)
for (i=0; i<k; i++) result = result * (n-i);
result = result * (n-i); return result;
return result; }
} Ex. 30P13 = 745747076954880000
30P14 = -5769043765476591616
Ex. 30P6 =427518000 100P10 =7475418734400817152
30P7 =1670497408 100P11 = 8704899442529685504
30P8 =-233265280 100P12 =-27200710659158016

1882 : 47414 5576371820:0 printf("result = %I164d\n", result);



1§ Cland P i

P 1
e ' &= skip unnecessary factorial n!, (n-k)!
long long int find nPk(int n, int k
PE =n (n-1) -+ (n-k+1) igt - J NPk )
int find_nPk(int n, int k) { long long int result=1;
int i, result=1 for (IF0; i<k; i++)
for (i=0; i<k; i++) result = result * (n-i);
result = result * (n-i); return result;
return result; }
} Ex. 30P13 = 745747076954880000
30P14 =-5769043765476591616
Ex. 30P6 = 427518000 100P10 = 7475418734400817152
30P7 =1670497408 100P11 = 8704899442529685504
30P8 = -233265280 100P12 = -27200710659158016
1882 : 47414 55;3371820(?0 printf("result = %164d\n", result);

printf("result = 9%I11d\n", result);

4



s N N co0o
3+ & Ck and P« cees

e XA = (cont’d)

n(n-1) --- (n-k+1)
kK (k-1) --- 1

Y
I



Yy n n o000
1+ 8 Ck and P« e
o X &= (cont’d)

Ionigtlgng find_nCk(int n, int k) { N (n-1) - (nk+1)
long long int numerator=1, denominator=1; k K (k'1) e

for (i=0; i<k; i++) {
numerator *= n-i;
denominator *= k-i;
}

return numerator/denominator;

}



e n n o000
R C« and P« §§§:
o % %= (cont'd) .
Ion.g I?ng find_nCKk(int n, int k) { ] n (n_1) (n—k+1)
:2:1'9 long int numerator=1, denominator=1; Ck ) K (k'1) -1

for (i=0; i<k; i++) {
numerator *= n-i;
denominator *= k-i;

}

return numerator/denominator;

} 30C14 = -66175233
100C10 = 2060025003968
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e X &= (cont’d)

long long find_nCk(int n, int k) {
inti;

long long int numerator=1, denominator=1;

for (i=0; i<k; i++) {
numerator *= n-i;
denominator *= k-i;

}

return numerator/denominator;

} 30C14 = -66175233
100C10 = 2060025003968

n n(n-1) - (n-k+1)

K= K (k1) - 1

" long long find_nCk(int n, int k) {

int i;
long long numerator=1;
long long denominator=1;
for (i=0; i<k; i++) {
numerator *= n-i;
if (numerator % (k-i) == 0)
numerator /= k-i;
else
denominator *= k-i;
}

return numerator/denominator;



gl ) N Ck and Pk

e X &= (cont’d)

long long find_nCk(int n, int k) {
inti;

long long int numerator=1, denominator=1;

for (i=0; i<k; i++) {
numerator *= n-i;
denominator *= k-i;

}

return numerator/denominator;

} 30C14 = -66175233
100C10 = 2060025003968

n n(n-1) - (n-k+1)

K= K (k1) - 1

" long long find_nCk(int n, int k) {

int i;
long long numerator=1;
long long denominator=1;
for (i=0; i<k; i++) {
numerator *= n-i;
if (numerator % (k-i) == 0)
numerator /= k-i;
else
denominator *= k-i;
}

return numerator/denominator;

100C15 = 3327654233778599 s
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Ionigtlgng find_nCk(int n, int k) { N (n-1) - (nk+1)
long long int numerator=1, denominator=1; k K (k'1) SO

for (i=0; i<k; i++) { P | | |
numerator *= n-i: 7/ long long find_nCk(int n, int k) {

: - int i;
denominator *= k-i; ! ’
} ; long long numerator=1;
: ‘ long long denominator=1:
return numerator/denominator; g g ’

) 30C14 = -66175233 ; Tor (=0 ki i) {
100C10 = 2060025003968 i numerator *= n-i;

long Iong int find nCk(int n, intk) { it (numerator % (k-i) == 0)
inti: numerator /= k-i;
| else

double result=1.0;
for (i=0; i<k; i++) j

result *= ((double)(n-i))/(k-i); ! i |
return (long long int) (result+0.5); ! return numerator/denominator:;

) 100C15 = 3327654233778599 s

denominator *= k-i;
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Ionigtlgng find_nCk(int n, int k) { 0 _ n (n-1) - (n-k+1)
long long int numerator=1, denominator=1; k K (k'1) SO

for (i=0; i<k; i++) { P | | |
numerator *= n-i: 7 long long find_nCk(int n, int k) {

i *e [o_i- int i;
denominator *= k-i; ,
) ; long long numerator=1;

. long long denominator=1;
return numerator/denominator; g g ’

for (i=0; i<k; i++) {

) 30C14 = -66175233 / ! AT
100C10 = 2060025003968 ¥ numeraior "= n-i,
___________________________________________________________ H 0 " —_—
long long int find_nCk(int n, int k) { It (numerator % (k-1) == 0)
int i: numerator /= k-i;
double result=1.0; ;' else . 1
for (i=0; i<k; i++) i denominator *= k-i;
result *= ((double)(n-i))/(k-i): i

return (long long int) (result+0.5); return numerator/denominator:;

i 100C18 = -9223372036854 775808 | 100C15 = 3327654233778599 s
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e C(66,33)= 7,219,428,434,016,265,740

203-1 = 9,223,372,036,854,775,807
C (67,33) = 14,226,520,737,620,288,370
264-1 = 18,446,744,07/3,709,551,616
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e C(66,33)= 7,219,428,434,016,265,740
203-1 9,223,372,036,854,775,807
C (67,33) = 14,226,520,737,620,288,370
264-1 = 18,446,744,07/3,709,551,616
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01 int find_gcd(int n1, int n2) {

55 67
L& C33 02

03
04
B3 S 2 Rl
07
08
09
10
11
12}

S

intp,q,r;

p = abs(n1);

g = abs(n2);

r=p%aq;

while (r 1= 0) {
P=q,
q=r
r=p%aq;

}

return q;




P 01 int find_gcd(int n1, int n2) {
?;‘L — ng 02 intp,q,r;
03 p=abs(n1);
04 q = abs(n2);
T 21 & N 2 205 r=p%aq;
o FEITH A o FlikadR 0 ik (r!q= 0){
01 int gcd(int p, intq) {// assume p>=q 07 p=q;
02 if(p% g==0) 08 q=r;
03 return q; 09 r=p %aq;
04 else 10 }
05 return gcd(q, p % q); 11 return q;

06} 121




P 01 int find_gcd(int n1, int n2) {
?;‘L — ng 02 intp,q,r;
03 p=abs(n1);
04 q = abs(n2);
T 21 & N 2 205 r=p%aq;
o FEITH A o FlikadR 0 ik (r!q= 0){
01 int gcd(int p, intq) {// assume p>=q 07 p=q;
02 if(p% g==0) 08 q=r;
03 return q; 09 r=p %aq;
04 else 10 }
05 return gcd(q, p % q); 11 return q;

06} 12 }




s 7 01 int find_gcd(int n1, int n2) {
?\;‘L — Cg3 02 intp,q,r;
03 p=abs(n1);
04 q = abs(n2);
& P 2Ll 5 % 05 r=p%aq;
* Tk & 306 while (r 12 0)
01 int gcd(int p, intq) {// assume p>=q 07 p=q;
02 if(p% g==0) 08 q=r;
03 return q; 09 r=p %aq;
04 else 10 }
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for (p=j=0; j<i+1; j++,p=t) P11 0 0 0 O

t=comblj], comb][j]=p+t;
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ket = & 35 () e
e :#* |long long comb[2][67]={{1}}; ez sarL 7
Int 1, |, b;

for (b=1,i=2; i<=n; i++,b=1-b)
for (j=1; j<i; j++)
comb[b][j] = comb[1-b][j-1] + comb[1-b][j];

e :#* long long comb[67]={1}; - &L 5]
J

int i, j; long long p, t; 0 1 2 3 4 5
for (i=1; i<n; i++) 1.0 0 0 0 O
for (p=j=0; j<i+1; j++,p=t) PH 1. 0 0 0 O

t=comblj], comb][j]=p+t;

A b ODN -



gt = & 25 () i

e :#* |long long comb[2][67]={{1}}; ez sarL 7

Int 1, |, b;

for (b=1,i=2; i<=n; i++,b=1-b)

for (j=1; j<i; j++)
comb[b][j] = comb[1-b]

J-1] + comb[1-b][j];

e :#* longlong comb[67]={1}; e7— wri 7|

int i, j; long long p, t;
for (i=1; i<n; i++)
for (p=j=0; j<i+1; j++,p=t)
t=comb]j], comb[j]=p+t

J

A b ODN -
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tadr+ = & A5 () e
e :F* |ong long comb[2][67]={{1}}; eh= ar*L 7|
Int 1, |, b;
for (b=1,i=2; i<=n; i++,b=1-b)
for (j=1; j<i; j++)
comb[b][j] = comb[1-b][j-1] + comb[1-b][j];
e :#* long long comb[67]={1}; - &L 5]
j
int i, j; long long p, t; 0 1 2 3 4 5
for (i=1; i<n; i++) 1.0 0 0 0 O
for (p=j=0; j<i+1; j++,p=t) 1 0 0 0 O
1

t=comblj], comb][j]=p+t;
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000
-
» , _ 5 / \ o000
tadr+ = & A5 () e
e :F* |ong long comb[2][67]={{1}}; eh= ar*L 7|
Int 1, |, b;
for (b=1,i=2; i<=n; i++,b=1-b)
for (j=1; j<i; j++)
comblb][j] = comb[1-b][}-1] + comb[1-b][j];
e :#* long long comb[67]={1}; - &L 5]
j
int i, j; long long p, t; 0 1 2 3 4 5
for (i=1; i<n; i++) 1.0 0 0 0 O
for (p=j=0; j<i+1; j++,p=t) Pt1 0 0 0 O
1

t=comblj], comb][j]=p+t;
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000
i
» , _ 5 / \ o000
tadr+ = & A5 () e
e :F* |ong long comb[2][67]={{1}}; eh= ar*L 7|
Int 1, |, b;
for (b=1,i=2; i<=n; i++,b=1-b)
for (j=1; j<i; j++)
comblb][j] = comb[1-b][}-1] + comb[1-b][j];
e :#* long long comb[67]={1}; - &L 5]
j
int i, j; long long p, t; 0 1 2 3 4 5
for (i=1; i<n; i++) 1.0 0 0 0 O
for (p=j=0; j<i+1; j++,p=t) Pt1 0 0 0 O
t=comblj], comb[j]=p+t; 1 3%

A b ODN -
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000
-
» , _ 5 / \ o000
tadr+ = & A5 () e
e :F* |ong long comb[2][67]={{1}}; eh= ar*L 7|
Int 1, |, b;
for (b=1,i=2; i<=n; i++,b=1-b)
for (j=1; j<i; j++)
comb[b][j] = comb[1-b][j-1] + comb[1-b][j];
e :#* long long comb[67]={1}; - &L 5]
j
int i, j; long long p, t; 0 1 2 3 4 5
for (i=1; i<n; i++) 1.0 0 0 0 O
for (p=j=0; j<i+1; j++,p=t) 1 1P 0 0 0 O
t=comb]j], comblj]=p+t; 1 2
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tagr+ = & 35 (§)

e :#* |long long comb[2][67]={{1}}; ez sarL 7

Int 1, |, b;
for (b=1,i=2; i<=n; i++,b=1-b)
for (j=1; j<i; j++)

comb[b][j] = comb[1-b][j-1] + comb[1-b][j];

e :#* longlong comb[67]={1}; e7— wri 7|

int i, j; long long p, t;
for (i=1; i<n; i++)
for (p=j=0; j<i+1; j++,p=t)
t=comblj], comb[j]=p+t;

A b ODN -
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000
i
» , _ 5 / \ o000
tadr+ = & A5 () e
e :F* |ong long comb[2][67]={{1}}; eh= ar*L 7|
Int 1, |, b;
for (b=1,i=2; i<=n; i++,b=1-b)
for (j=1; j<i; j++)
comblb][j] = comb[1-b][}-1] + comb[1-b][j];
e & * |long long comb[67]={1}; e— Lz
j
int i, j; long long p, t; 0 1 2 3 4 5
for (i=1; i<n; i++) 1.0 0 0 0 O
for (p=j=0; j<i+1; j++,p=t) 1 1Pt 0 0 O
t=comblj], comb[j]=p+t; 1 2w
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g+ = & 35 ()

e :F* |long long comb[2][67]={{1}}; = 't 7|
Int 1, |, b;
for (b=1,i=2; i<=n; i++,b=1-b)
for (j=1; j<i; j++)
comb[b][j] = comb[1-b][j-1] + comb[1-b][j];

e :#* long long comb[67]={1}; - &L 5]
J

int i, j; long long p, t; 0 1 2 3 4 5
for (i=1; i<n; i++) 1 0 0 0 0 0
for (p=j=0; j<i+1; j++,p=t) 1 1 1Pto 0 0 O
t=comblj], comb[j]=p+t; 2 1 2% o o o

i 3 1 3 3 1 0 0

4 1 4 6 4 1 0

5 1 5 10 10 5 1
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{ £ thi & # Comb(500,250)| 3

o« FRY LR REY
|4 Crypto++, GMP, Java

R A m >=n >= 0, #iHiH &% comb(m, n):
=g A m: 500

saim A n: 250

comb(500,250)=

Integer result;
result = 1;
for (i=0; i<n; i++) {

}

d = gcd(m-i, i+1);
num = (m-i) / d;
denum = (i+1) / d;
result /= denum;
result *= num;

11674431578827768292093473476217661965923008118031144612410028495

/8111126736084 73715666417775521605376810865902709989580160037468226

393900042796872256.
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Rl T, - B 333

#define INT64_MIN_VALUE (0x8000000000000000LL)
#define INT64 MAX VALUE (Ox7FFFFFFFFFFFFFFFLL)
int isMultOverflow(long long a, long long b) {

long long ap, bp, cp, max=INT64 MAX VALUE;

if (@==INT64_MIN_VALUE) return b!=1;

if (b==INT64 MIN_VALUE) return a!=1;

ap=a>=07?a:-a;

bp=b>=07?7b:-b; N . e e i N
P A EREZA S TRESE

op = max / bp; BRI, R EHREA TR
return (ap > cp);
} FH A A ]

{231 Comb(500, n) ELMYRAIE 64 i1 7T
AIDIEFZGRHY n fH, RFEFEEE
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Rl T - A AR BOER 3

o 1 £:F* CPUm3; £ JNO (jump no overflow)
int isOverflow()
{
__asm_ ("movl $0, %eax;");
__asm__ ("jno end;");
geclg++ __asm__ ("movl $1, %eax;");
__asm__ ("end:"); - . N
} W SRAE AT B R
1B A s ek
TN L ANV LEH
int isOverflow() ;ﬁﬁ S
{
asm mov eax, 0
Visual C/C++ asmjno  end vc2010 ?Eﬁ4ﬁlﬁﬁ/£

asm mov eakx, 1

asm end; B FRSERL, B
} TR 58




C++ Exception Handling (1/3)::::

e There are three exception handling mechanisms you o
can use with C++ on MS Windows:

C++ exceptions, implemented by the compiler (try/catch), cl /EHsc

Structured Exception Handling (SEH), provided by Windows
(_try/ __except), cl /EHa

MFC exception macros (TRY, CATCH - built on top of SEH / C++
exceptions - see also TheUndeadFish's comment)
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C++ Exception Handling (1/3)::

e There are three exception handling mechanisms you
can use with C++ on MS Windows:
C++ exceptions, implemented by the compiler (try/catch), cl /EHsc

Structured Exception Handling (SEH), provided by Windows
(_try/ __except), cl /EHa

MFC exception macros (TRY, CATCH - built on top of SEH / C++
exceptions - see also TheUndeadFish's comment)

e C++ exceptions guarantee automatic cleanup during stack
unwinding (i.e. dtors of local objects), other mechanisms don't.
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C++ Exception Handling (1/3)::

o
e There are three exception handling mechanisms you

can use with C++ on MS Windows:
C++ exceptions, implemented by the compiler (try/catch), cl /EHsc

Structured Exception Handling (SEH), provided by Windows
(_try/ __except), cl /EHa

MFC exception macros (TRY, CATCH - built on top of SEH / C++
exceptions - see also TheUndeadFish's comment)

e C++ exceptions guarantee automatic cleanup during stack
unwinding (i.e. dtors of local objects), other mechanisms don't.

e C++ exceptions only occur when they are explicitly thrown.

Structured Exceptions may occur for any operations (especially

divide by zero, H/W, and invalid memory access, S/W).
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C++ Exception Handling (1/3)::

There are three exception handling mechanisms you
can use with C++ on MS Windows:
C++ exceptions, implemented by the compiler (try/catch), cl /EHsc

Structured Exception Handling (SEH), provided by Windows
(_try/ __except), cl /EHa

MFC exception macros (TRY, CATCH - built on top of SEH / C++
exceptions - see also TheUndeadFish's comment)

C++ exceptions guarantee automatic cleanup during stack
unwinding (i.e. dtors of local objects), other mechanisms don't.

C++ exceptions only occur when they are explicitly thrown.
Structured Exceptions may occur for any operations (especially
divide by zero, H/W, and invalid memory access, S/W).

MFC introduces the macros to support exception handling even
if compilers didn't implement them.
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C++ Exception Handling (2/3

for (y=3; y>=0; y--)
try {
int x=1, *z=0;
if (y==3) throw exception("explicit");
else if (y==2) throw 'a’;
else if (y==1) *z = 10;
else
X = xly;

cout << "end\n";

}

catch (exception) {
cout << "exception caught\n”;
}
catch (char e) {
cout << "char exception caught\n";
}
catch (...){
cout << "... caught\n";
}

000Te0
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C++ Exception Handling (2/3

for (y=3; y>=0; y--)
try {
int x=1, *z=0;
if (y==3) throw exception("explicit");
else if (y==2) throw 'a’;
else if (y==1) *z = 10;
else
X = X/y;

cout << "end\n";

}

catch (exception) {
cout << "exception caught\n”;
}
catch (char e) {
cout << "char exception caught\n";
}
catch (...){
cout << "... caught\n";
}

seiTes

cl /EHsc
testCException.cpp
exception caught

char exception caught
RP.JtestCException.
testCException.exe E&ZIHEMF
Windows EESHEEHNERAE..
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C++ Exception Handling (2/3

for (y=3; y>=0; y--)
try {
int x=1, *z=0;
if (y==3) throw exception("explicit");
else if (y==2) throw 'a’;
else if (y==1) *z = 10;
else
X = xly;

cout << "end\n";

}

catch (exception) {

seiTes

cl /EHsc
testCException.cpp
exception caught

char exception caught
RP.JtestCException.
testCException.exe E&ZIHEMF
Windows EESHEEHNERAE..

cout << "exception caught\n”;
}
catch (char e) {
cout << "char exception caught\n";

}
catch (...){

cl /EHa testCException.cpp
exception caught

char exception caught

... caught

... caught

cout << "... caught\n";
}
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C++ Exception Handling (3/3) ::::

DWORD FilterFunction(unsigned int code) {

if (code == 15)
for (y=3; y>=0; y--) return EXCEPTION CONTINUE_ SEARCH;
__try¢ else N
int x=1, *z=0: return EXCEPTION_EXECUTE_HANDLER;
if (y==3) )
RaiseException(15,0,0,NULL); Y
else if (y==2) throw 'a’; S
else if (y==1) *z = 10; Rl
else ,/f
X = X/y; Something like rethrow

cout << "end\n":bo

}

_except (FilterFunction(GetExceptionCode())) {
cout << GetExceptionCode() << " exception caught\n";
}

Both cl /EHsc or ¢l /EHa work.
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